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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any ten questions: 2x10=20
@~ wifl eeas T wis ¢
a)  Which of the following words are referential?
IS wwefors Sy (@ @ = N
i) And
R
11)  White crows
Ml Fl<w
111)  Golden mountain

CTIe AR

[Turn Over]

b)
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iv)  Elephant
fe
Distinguish between:
A (TS ¢
i) S believes that P, and
S i 61 @ P 9=
i1) S knows that P
Sl @ P
Mention two meanings of the word 'purpose’.

Tl =W 7o o1 TEd I |

What is the standard sense of the word

'definition'?
Feeal #Hd Avfore oL I 2

What is the difference between a sentence and

proposition?
AR QR A6 T AL 2

Explain the senses in which the words 'true' or

'truth' are used in the following sentences:

e amefre ey #wh F o gz @@ ?
1) It is truth that hurts.

MYJ & (MM |
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g)

h)
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11)  You can not draw a true circle.

ol 936 TorPIR Je SIS A1 |
111) He is true to his wife.

@1 o7 EF &l sTerfe |

iv) My wish had come true.

SN TRIG! Ay 2R |

Mention two sentences which express the

same proposition.
b AR TR 9, A G2 6 S I |

Insert quotation marks, in the following

sentences where needed:

fefefae aefere @AE Tyfehz awmem
@RI Tgfefbe BINe ¢
1)  Fenestrais the German word for window.
(FCeTaEl 700 eIl Sl #I7 |
11)  The word 'order' has five letters.
ST (3G *ioes Al orFe iz |
Give an example of
@I b LRI SriRFel wie A Ghibre
1)  a definition that is too wide and

wfeanifel T 2@z @3 Sore
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i)

k)

D
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i1)  a definition that is too narrow.
SIS (I BRI |

Are there things which are meaningful but not
words? Give example.

@31 g =Nitg <5, T wiefsyef g ==t 12 Swizgel
s |

Are the following propositions analytic? Give

reasons:
e ARl [ Res e 3fe we:

i)  When large numbers of people are out

of work, unemployment results.

ITRAT TG DIFA! 1 A OF T =7
(@G |

i1)  All swans are white.
A SR A |

What is the peculiarity about the reference of
the word 'I'?

T (@S =izrg ez foarag Fie
Mention two senses of the verb 'to know'.

Giw ftemita 't =12 Srae et |

Distinguish between defining characteristics

and accompanying characteristics.

THPTEF A QIR RN G 0y Ay o
|
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o) What is a a-priori statement?

e T FICF e ?
2.  Answer any four questions: 5%x4=20

@~ BrEfG o Ted wie ¢

a)  According to Hospers what is the relation
between a word and its meaning?
A 0 *HR A0 O SLq 71 oot 2

b)  Distinguish between stipulative and reportive
definitions with examples.
SICHIoRF Q8 2ot AR 2147 TuigerTg
1T P |

c) Explain different conditions of Propositional
Knowledge.
3B SR o *Safer i 39|

d)  Are arithmetic propositions synthetic apriori?
Discuss.
sfifefes Tl & sFoshm s 3o TR
O[CeTIDe P |

e) What is the peculiarity of the statement?
— I shall survive my bodily death.
S (i Jgid SRS =i (&5 AFa— e
e e
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What are the characteristics of a scientific
explanation? Is there any relation between

scientific explanation and prediction?

et e AT & e @i
GR SRYIING T2y &l 774 oz 2

3. Answer any two questions: 10x2=20

@I 7fo 2o Ted wie

a)

b)

687/Phil

Explain and examine the correspondence

theory of truth.

Terel WIfFe Sgorem ARG A7 4|

What is the problem of Induction? How does

Hospers resolve this problem?
SRR ST I 15 2 294 Sl @3 FriE
I FCACR ?

Following Hospers, give the different
definitions of analytic proposition. Give your

critical comment on the following:
All propositions are analytic.

AP SRPTae 03 Rees e ffen o wia |
TR AR TIF oI T8 Iferre ige 9 ¢

A A6e12. [T |




d)
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How would you distinguish between
verifiability and confirmability criterion of
meaning? Explain and examine the verifiability

criterion of meaning.

4 FGBEIETS! @ ANLTRISTO Taqeed N
AN 4 | TGIRESTO Temesft i 54|



